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1. (c)

2. (d) By help of the options,

In word 'POPULATION'  we doesn't have let-

ter 'C' so word 'ACTION' can't be formed.

3. (b) Such pairs are :

&W8, #Q6, $D8 and %Y3

4. (d) River, canal, and stream contains moving wa-

ter while, pond contains stagnant water.

5. (d) N.W + 65o (Clockwise) – 155o (Anticlockwise)
= N.W – 90o (Anticlockwise) = S.W

6. (d) Logic: First number × (First number – 1) =

Second number.

In option (d) we have 6 × (6 – 1) = 6 × 5 = 30 
36

7. (c) Only Assumption II follows.

8. (b) W

U

O

G

+3

+2

+3

+3

+2

+1

+2

+2

Z

W

R

J

B

X

T

L

(odd)

9. (b) S  N  O  W

25

+2 +2+2 +2

(19)(14)(15)(23)

 R  I   D  E

7

+2 +2+2 +2

(18)(9) (4) (5)

Similarly,

 T  A  P  E

7

+2 +2+2 +2

(20) (1)(16) (5)
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10. (d) Logic: Sum of Positional values of reverse

Positional letters = code

H  E  E  L  S

(19)(22)(22) (8)(15)
S  V  V  O  H

19 + 22 + 22 + 15 + 8  = 86

11. (b) Total number of triangle is 21

12. (b) Opposite pairs are as follows:

A - B, 2 - C and 1- 3

13. (d)  
L 16 R19 

Mohan    Madan

After interchanging,

L R28

Madan   Mohan 

Total number of people = Position of mohan
before interchanging + Position of Madan af-

ter interchanging – 1= 19 + 28 – 1 = 46

14. (d) Given,

675 × 5 – 7 + 28 ÷ 83

ATQ,

675 ÷ 5 × 7 – 28 + 83

135 × 7 – 28 + 83  = 1000

15. (d)
L

Luies Kriss Smith Rosy Donald

R

16. (d)

17. (a)
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18. (b) (71, 114, 157)

 [(71 + 157) ÷ 2]

 [(228) ÷ 2]

 114, (Middle term)

(36, 79, 122)

 [(36 + 122) ÷ 2]

 [(158) ÷ 2]

 79 (Middle term)

Similarly,

(25, 68, 111)

 [(25 + 111) ÷ 2]

 (136) ÷ 2  = 68 (Middle term)

19. (c) Aprons Chop
sticksForks 

Knives

20. (c)

21. (d) All number except 34 in the data are odd num-
bers while only 34 is even number.

22. (b)
L

B  C   E   F  G  D   A

R

'F' sits in the middle position.

23. (b)
 5     20     60    240    720    2880

×4 ×3 ×4 ×3 ×4

24. (b)

25. (d) Rajan > Raman > Royan

 Royan is tallest and Rajan is shortest.

 Both I and II implicit.

B-GENERAL AWARENESS

26. (b) The Tons River is a major perennial Hima-

layan river that flows through the Garhwal

division of Uttarakhand and touches

Himachal Pradesh. It is the largest tributary

of the Yamuna River./Vksal unh ,d çeq• ckjgeklh
fgeky;h unh gS tks mÙkjk•aM ds x<+oky eaMy ls gksdj
fgekpy çns'k dks Nwrh gSA ;g ;equk unh dh lcls cM+h
lgk;d unh gSA

27. (a)

28. (c) The National Defence Academy (NDA) is lo-

cated at Khadakvasla near Pune in

Maharashtra.

It is the world's first tri-service academy,

where cadets of the three services, Army,

Navy and Air Force train together before go-

ing for pre-commissioning training at their

respective service academies./jk"Vªh; j{kk vdkneh
(,uMh,) egkjk"Vª esa iq.ks ds ikl •M+doklyk esa fLFkr gSA

;g nqfu;k dh igyh f=k&lsok vdkneh gS] tgk¡ rhuksa lsokvksa]
lsuk] ukSlsuk vkSj ok;q lsuk ds dSMsV vius&vius lsok vdknfe;ksa
esa çh&deh'ku çf'k{k.k ds fy, tkus ls igys ,d lkFk çf'k{k.k
ysrs gSaA

29. (d) The Tattwabodhini Patrika promoted the

study of India's past in the Bengali language.

The magazine was an important publication

of the Tattwabodhini Sabha, founded by

Devendranath Tagore in 1839./rÙocksf/uh if=kdk
us caxkyh Hkk"kk esa Hkkjr ds vrhr ds vè;;u dks c<+kok fn;kA
;g if=kdk 1839 esa nsosaæukFk VSxksj }kjk LFkkfir rÙocksf/uh lHkk
dk ,d egRoiw.kZ çdk'ku Fkk

30. (b)

31. (c) The Indian Women's Association is India's

first major feminist organisation, still func-

tioning today. It was founded in 1917 in

Adyar, Madras. /Hkkjrh; efgyk la?k Hkkjr dk igyk
çeq• ukjhoknh laxBu gS] tks vkt Hkh dk;Zjr gSA bldh LFkkiuk
1917 esa vMÔkj] eækl esa gqbZ FkhA
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32. (d) There is no chemical reaction or chemical

substance involved in cycling, so there is no

chemical energy. Heat energy is generated

due to friction between the tyres and the road

surface while cycling./lkbfdy pykrs le; dksbZ
jklk;fud vfHkfØ;k ;k jklk;fud inkFkZ ugha gksrk gS] blfy,
dksbZ jklk;fud ÅtkZ ugha gksrh gSA lkbfdy pykrs le; Vk;jksa
vkSj lM+d dh lrg ds chp ?k"kZ.k ds dkj.k Å"ek ÅtkZ mRiUu
gksrh gS

33. (a)

34. (b) The Sayyid dynasty ruled India after Timur's

invasion. Timur invaded India in 1398 AD

during the reign of Nasir-ud-Din Mahmud

Shah Tughlaq of the Tughlaq dynasty./rSewj ds
vkØe.k ds ckn lSÕ;n jktoa'k us Hkkjr ij 'kklu fd;kA rSewj
us 1398 bZLoh esa rqxyd jktoa'k ds ukflj&mn&nhu egewn 'kkg
rqxyd ds 'kkludky ds nkSjku Hkkjr ij vkØe.k fd;kA

35. (b) Soil is often called the "skin of the Earth" be-

cause it covers the Earth's surface like a thin

layer. This layer is important for supporting

plant life, which in turn supports animal life

and entire ecosystems./feêðh dks vDlj ^i`Foh dh
Ropk* dgk tkrk gS D;ksafd ;g i`Foh dh lrg dks ,d iryh
ijr dh rjg <drh gSA ;g ijr ikS/ksa ds thou dks lgkjk nsus
ds fy, egRoiw.kZ gS] tks cnys esa i'kq thou vkSj iwjs ikfjfLFkfrdh
ra=k dk leFkZu djrh gSA

36. (a) Kakrapar Atomic Power Plant is located in

Gujarat. Kakrapar Atomic Power Plant is a

nuclear power plant that was inaugurated on

6 May 1993. It is located near Surat district

of Gujarat./dkdjkikj ijek.kq ÅtkZ la;a=k xqtjkr esa fLFkr
gSA dkdjkikj ijek.kq ÅtkZ la;a=k ,d ijek.kq ÅtkZ la;a=k gS
ftldk mn~?kkVu 6 ebZ 1993 dks fd;k x;k FkkA ;g xqtjkr ds
lwjr ftys ds ikl fLFkr gSA

37. (b) Article 21A was inserted in the Indian Con-

stitution by the 86th Amendment Act 2002.

It provides the right to free and compulsory

education to all children between the ages of

6 and 14 as a fundamental right./vuqPNsn 21A
dks 86osa la'kks/u vf/fu;e 2002 }kjk Hkkjrh; lafo/ku esa
'kkfey fd;k x;k FkkA ;g 6 ls 14 o"kZ dh vk;q ds lHkh cPpksa
dks ekSfyd vf/dkj ds :i esa eqÝr vkSj vfuok;Z f'k{kk dk
vf/dkj çnku djrk gSA

38. (d) The High Court of Kerala has jurisdiction over

Lakshadweep. A sessions court is located at

Andrott and has jurisdiction over Kavaratti

Islands, Andrott, Minicoy and Kalpeni./dsjy
mPp U;k;ky; dk y{k}hi ij vf/dkj {ks=k gSA ,d l=k
U;k;ky; ,aMªksV esa fLFkr gS vkSj bldk vf/dkj {ks=k dojÙkh
}hi] ,aMªksV] fefudkW; vkSj dYisuh ij gSA

39. (a) The Blue Flag programme is operated under

the auspices of the Foundation for Environ-

mental Education. Its headquarters is in

Copenhagen, Denmark./Cyw ÝySx dk;ZØe i;kZoj.k
f'k{kk iQkmaMs'ku ds rRoko/ku esa lapkfyr fd;k tkrk gSA bldk
eq[;ky; dksisugsxu] MsuekdZ esa gSA

40. (c) A corporation discloses its financial results

every three months, known as a fiscal quar-

ter. A publicly traded company will publish

four quarterly reports a year because, as the

name suggests, there are four quarters in a

year./,d fuxe gj rhu eghus esa vius foÙkh; ifj.kkeksa dk
•qyklk djrk gS] ftls foÙkh; frekgh ds :i esa tkuk tkrk gSA
,d lkoZtfud :i ls dkjksckj djus okyh daiuh lky esa pkj
frekgh fjiksVZ çdkf'kr djsxh D;ksafd] tSlk fd uke ls irk
pyrk gS] ,d lky esa pkj frekfg;k¡ gksrh gSaA

41. (b) Regional Rural Banks (RRBs) are a type of

commercial banks at the local level that pro-

vide concessional loans to agriculture and

rural sectors./{ks=kh; xzkeh.k cSad (vkjvkjch) LFkkuh;
Lrj ij okf.kfT;d cSadksa dk ,d çdkj gS tks Ñf"k vkSj xzkeh.k
{ks=kksa dks fj;k;rh ½.k çnku djrs gSaA

42. (a) Neon sign bulbs are a classic example of
plasma as a state of matter. The plasma in
neon sign bulbs is created when an electric
current passes through the gas, causing it

to ionize and form plasma./fu;kWu lkbu cYc inkFkZ
dh voLFkk ds :i esa IykTek dk ,d mRÑ"V mnkgj.k gSaA
fu;kWu lkbu cYc esa IykTek rc curk gS tc ,d fo|qr çokg
xSl ls gksdj xqtjrk gS] ftlls ;g vk;fur gks tkrk gS vkSj
IykTek cu tkrk gSA

43. (d) Lipase is an enzyme that catalyzes the hy-
drolysis of fats (lipids). Lipase is produced in
the pancreas, mouth, and stomach.

It is essential for the digestion, transport, and
processing of dietary lipids (e.g., triglycerides,

fats, oils)./ykbisl ,d ,atkbe gS tks olk (fyfiM) ds
gkbMªksfyfll dks mRçsfjr djrk gSA ykbisl vXU;k'k;] eqag vkSj
isV esa curk gSA

;g vkgkj fyfiM (tSls] VªkbfXyljkbM~l] olk] rsy) ds ikpu]
ifjogu vkSj çlaLdj.k ds fy, vko';d gSA
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44. (b) Humans have a total of 46 chromosomes. Out
of these, 2 chromosomes are sex chromo-
somes that determine the sex of an indi-

vidual./euq";ksa esa dqy 46 xq.klw=k gksrs gSaA buesa ls 2 xq.klw=k
lsDl xq.klw=k gksrs gSa tks fdlh O;fDr ds fyax dk fu/kZj.k djrs
gSaA

45. (d) The Select case structure is used for selec-
tion in programming. It allows the program
to choose between different paths based on

the value of a variable or expression./çksxzkfeax
esa p;u ds fy, lsysDV dsl LVªDpj dk mi;ksx fd;k tkrk gSA
;g çksxzke dks fdlh pj ;k vfHkO;fDr ds eku ds vk/kj ij
fofHkUu iFkksa ds chp p;u djus dh vuqefr nsrk gSA

46. (b)

47. (b)

48. (d)

49. (a)

50. (a)

C - QUANTITATIVE APTITUDE

51. (a) Supplementary angles sum = 180o

 Supplement = 180o – 70o

= 110o

52. (d) ATQ,

L.C.M = 4, 6, 7, 8, and 12

 168 second

53. (a) ATQ,

The number of man  = x

x × 70 = (x + 10) 60

70x = 60x + 600

x = 60

The men were there original is 60.

54. (b)
 C.P  S.P

Price 

Sold

4 5
20
80

17
85

Now, S.P – C.P = 5

Profit percentage

= 
5

80
×100 = 6.25%

55. (d) Volume of cylinder = r2h

Volume of cone = 
1

3
r2h]

ATQ,

Required ratio

=

2

2

1
r h

3
r h




 = 

1

3
 = 1 : 3

56. (d) X+Y –– 20

Y –– 25

5

4

 work)(Total 100

x's efficency is = 1

x alone finish the task

= 
100

1
 = 100 days

57. (c) The sum of Face values 8 and 5 in 817354
will be,

 8 + 5 = 13

58. (c) Area of an equilateral

 = 
3

4
a2


3

4
(12)2


3

4
× 144 = 62.35

59. (d) ATQ,

 C.P  S.P
Rupees

Amount 

20 30

800 1000
16 30

The difference is 14.

Profit percentage

= 
14

16
×100 = 87.5%
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60. (c) Given, R = 3, r = 2

The material required to make the ball


4

3
[R3 – r3]


4

3
[33 – 23]


4

3
 (19) = 

76

3


61. (c) The marks in social science = 72o

ATQ,

360o  1800

1o  
1800

360

72o  
1800

360
× 72 = 360

62. (c) Given,

acot = b

cot = 
b

a

Now,

bcosθ – asinθ

bcosθ + asinθ

Dividing the whole equation by cos, we get:



a sinθ
b –

cosθ

asinθ
b

cosθ

 
  
 




b – a tanθ

b + a tanθ
=

2 2

2 2

b  – a

b + a

63. (b) ATQ,

100

P R T 
 = Interest

Now,

1 8

100

T 
 = 2

T = 25 years

64. (a) 220 + 80 ÷ [63 –{ 7 × 8 + (13 – 8)}]

 220 + 80 ÷ [63 – {56 + 5}]

 220 + 80 ÷  [63 – 61]

 220 + 80 ÷ 2 = 260

65. (d) Let, the maximum mark an each paper = 100

Marks in paper 'A' = 75% of 100 = 75

Marks in paper 'B' = 80% of 100 = 80

marks in paper 'C' = 60% of 100 = 60

Now,

Weightage of paper 'A' = 40% of 75 = 30

Weightage of paper 'B' = 50% of 80 = 40

Weightage of paper 'C' = 10% of 60 = 6

Now,

The weighted % of mark obtained by the can-

didate  = 
76

100
×100  = 76%

66. (c) Given,

4
4y –

y

 
 
 
 

 = 13

y – 
1

y  = 
13

4

Squaring both side

y2 + 2

1

y  – 2 = 
169

16

y2 + 2

1

y  = 
201

16
 = 

9
12 

16
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67. (c)
10

aX

P Q

Y

L

ATQ,

 LY × LX = LQ × LP

 3 × (3 + a) = 5 × 15

 (3 + a) = 25

 a = 22

68. (a)

A

B C

D

O
18

ATQ,

  ABC is an equilaterial triangle and 'a' is
the side of 

Then,

 OA = 
3

2
a = 

3

2
× 18

= 9 3

Now,

OA + OD = AD

AD = 9 3  + 9 3  = 6 27

69. (c) 6

A

B C8

D E

Property of triangle:


Area of ADE

Area of ABC




 = 

2

2

DE

BC


90

Area of ABC
 = 

36

64

 Area of  ABC = 160cm2

70. (a) Expenditure on Food articles = 27500 × 35%

 = 9625

Expenditure on Buying clothes = 15% ×
(27500 × 9625) = 2681.28

Saving = 40% × (27500 – 9625 – 2681.25) =
6077.5

71. (a) ATQ,

Length of the green part of the pole = 
9030

21
×

8

= 3440 cm

72. (d) x + 
1

x
 = 9

Squaring both side

x2 + 2

1

x
 + 2 = 81

x2 + 2

1

x
 = 79

Again, Squaring both side

x4 + 4

1

x
+ 2 = (79)2

x4 + 4

1

x
= 6239

73. (a) 13 –[10 – { 16 + 8 ÷ (k – 2)} + 2] = 20

 – [10 – { 16 + 8 × 
1

k – 2
} + 2 ]  = 7

 – [10k – 20 – 16k + 32 – 8 + 2k – 4] = 7k – 14

 4k = 7k – 14

k = 
14

3
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74. (b) ATQ,

(4M + 6W) × 8 = (3M + 7W) × 10

16M + 24W = 15M + 35W

M = 11W

M

W
= 

11

1

Total work = (4M + 6W) × 8

= (4 × 11 + 6) × 8

= 400 units

10 women complated the work = 
400

10
 = 40

days

75. (b) ATQ,

Putting  = 90o

=

4 4

2 4

1+ sin θ + cos θ

cos θ + sin θ

= 
1+1+0

0 +1 
 = 2

D-ENGLISH COMPREHENSION

76. (d) The article “the” is used because “same” is

always preceded by the definite article “the”

to indicate that two things are identical or very

similar.

77. (c) The correct spelling of the word is coveted,

not covted.

Coveted (ykykf;r@pkguk) means something that

is greatly desired or wished for.

78. (a) Anchorites (la U;klh) means people who

withdraw from society to live a solitary life,

typically for spiritual or religious reasons.

Similarly, Hermits (,dkaroklh) means people

who live alone, usually for religious or spiritual

reasons.

Wanderers (?kweus okys) means people who move

from place to place without a fixed home.

Pirates (yqVsjs) means individuals involved in

robbery, usually at sea.

Sailors (ukfodksa) means people who work on

ships.

79. (a) The word “Occurrence” is incorrectly spelled

as “Occurence”. The correct spelling has a

double “r” and no “e” after the “u.”

80. (d) Superstitions (va/fo'okl) refer to beliefs or

practices based on the supernatural, which

cannot be explained by reason or science.

Wonders (vk'p;Z) refers to things that cause

amazement or admiration due to their beauty

or unusual nature.

Marvels (peRdkj) means extraordinary or

wonderful things.

81. (b) “Had” is the simple past tense of “have” and

is used to indicate a completed action or state

in the past. Here, it correctly conveys that the

headache occurred earlier and is no longer

present.

82. (a) Pessimistic (fujk'kkoknh) means having a

negative outlook or expecting the worst

outcomes, while Bright (mTtoy) refers to

being hopeful, positive, or full of promise,

which is the opposite of pessimistic.

Discouraging (grksRlkfgr) means causing a lack

of confidence or hope.

Cynical (fuand) means distrusting others’

motives or being negative.

Desperate (fujk'k) means feeling hopeless or

in extreme need

83. (a) The word “reluctant” is an adjective and

cannot be used directly to modify the verb

“sit.” Instead, the correct phrase should be

“sit reluctantly.” The adverb “reluctantly”

is used to describe the manner of sitting.

84. (a) Paranoid (ikxyiu) means being excessively

suspicious or distrustful, often without good

reason. Similarly, Suspicious (lafnX/) means

having or showing a belief that others may be

involved in dishonest or harmful behavior.

Impeccable (funkZs"k) means flawless or perfect

Insignificant (vFkZghu) means unimportant or

trivial
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85. (d) The correct order is BCDA.

B introduces the topic.

C provides details about its coverage.

D explains the government’s intent.

A concludes with the purpose of the review.

86. (d) Passive Voice Structure: Object + should + be

+ Past Participle (V3) + by + Subject.

Here, “he” is the object, “should” is the

auxiliary verb, and “by the doctor” indicates

the doer.

Active Voice Structure: Should + Subject +

Verb (V1) + Object.

Should the doctor examine him?

87. (b) Acceded (LohÑfr nh) means to agree to or

accept a request or demand, while Refused

(bUdkj fd;k) refers to declining or rejecting a

request or demand.

Agreed (lger gqvk) means to consent or approve.

Succumbed (o'k gks tkuk) means to give in to

pressure or overcome by something

Applied (vkosnu fd;k) means to make a

formal request or use something

88. (c) “blessing in disguise” " (vk'khokZn ds :i esa)
means something that seems bad or unlucky

at first but results in something good later.

Here, the lockdown, though initially an

unexpected event, could have had positive

effects for students who were not prepared for

the examinations, like giving them extra time

to study.

89. (c) “cut down” means to reduce or decrease the

amount of something.

90. (c) The article “an” is used before words that start

with a vowel sound, but “rose” starts with a

consonant sound (r). The correct article to use

here is “a.”

91. (d) “fell flat” means Fail to win applause or Fail

completely.

92. (c) Apostate (/eZR;kxh) is a person who renounces

or abandons a religious or political belief or

principle.

Agnostic (la'k;oknh) refers to a person who

believes that the existence of God or the truth

of religious beliefs is unknowable

Ascetic (riLoh) refers to a person who practices

severe self-discipline and abstention from

indulgence.

Atheist (ukfLrd) refers to a person who does

not believe in the existence of God.

93. (a) The correct order is BCAD.

B: Introduces the topic by defining humility.

C: Explains humility by contrasting it with its

opposites.

A: Highlights the impact of arrogance versus

humble speech.

D: Concludes by emphasizing the importance

of humility for peace.

94. (b) Active Voice Structure: Subject + Verb (V2) +

Object.

Here, “The teacher” is the subject, “praised”

is the verb (past tense), and “the students”

is the object.

Passive Voice Structure: Object + was/were

+ Past Participle (V3) + by + Subject.

The object of the active voice (“the students”)

becomes the subject of the passive voice. The

verb changes to “were praised”, and “by the

teacher” indicates the doer of the action.

95. (a) The correct preposition to use with “beat” in

the context of a game or competition is “at”.

“beat at chess” means to win or defeat

someone in a game of chess.

In the following passage, some words have

been deleted. Fill in the blanks with the help

of the alternatives given. Select the most

appropriate option for each blank.
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ANSWER KEY

1. (c)

2. (d)

3. (b)

4. (d)

5. (d)

6. (d)

7. (c)

8. (b)

9. (b)

10. (d)

11. (b)

12. (b)

13. (d)

14. (d)
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